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(The result is computed from the three problems with the highest scores.)

points problems

1.
3

2.
4

3.
4

4.
4

d.
5)

Is it possible to paint six faces of a cube into three colours so that
each colour is present, but from any position one can see at most two
colours? (For any position it is possible to see only faces adjacent to
some vertex.)

Points K and L are marked on side AB of triangle ABC' so that
KL = BC and AK = LB. Given that M is the midpoint of side
AC, prove that ZK ML = 90°.

Pete summed up 10 consecutive powers of 2, starting from some power,
while Basil summed up several consecutive positive integers starting
from 1. Can they get the same result?

A figure, given on the grid, consists of a 15-step staircase and horizontal
and vertical bases (see the figure). What is the least number of squares
one can split this figure into? (Splitting is allowed only along the grid).

Among 2n + 1 positive integers there is exactly one 0, while each of
the numbers 1,2, ...,n is presented exactly twice. For which n can one
line up these numbers so that for any m = 1,...,n there are exactly
m numbers between two m’s?



:o); oJLa.(b

[l Y]

[lxel ¥]

[lszel ¥]

[lxel O]

[lel O]

International Mathematics o‘ " ulMoL.) e

Tournament of Towns

Senior O level paper (Y ole C‘:‘“) o 4y lune

Spring 2015 YVAY pawl — Ssbyel

(S anlllae 2> b |, asligualy Jl dins (s b 51 iy i)

LSJ‘M"')-@-g .ﬁ@@?fv—b@d@&)‘@ﬂ’b‘bv9*‘)‘6”3*‘0‘33\“ L,
4 93 b sl (S LT a8 a oz (08 b G5l a8 by (Jlste ke oo sue

LT oS oo oll e 5l YYO b 4y (i m o8 <S5 50 lism Jler o G
Tl how o 45 W [y God 5l ke )V o 4 e azhad (S Glsoe o)l5en
(o s o abis lgse 4 |, bl sw)

slacl 51 olaS o 5 5,15 52y 0 dus S lags (il o sue Y+ ) o o
a5 a1 olasl el olsge n e ar sl sl ond ol L 55 g VY, ..

il anbls sgmy ode m lds am =V, 0 Sl om 95 o &S 55 iy

S b 4wl ous Lasie ABC i 3l AM wle o, L 5 K bl .
5 KPL sbidie oS cul snis ol gl 68 & P abis AK = KL = LM
S AM b B b G 0 C 5 P bl wb o (55 = 58 = 47) wlalias ABC

ol AC b3 (g4, P abs &5 0SS ol Lus)b

Lg_)_gL?u dUE 90 b J.wLa.. .)J)‘J_)L,s Dﬂb;ﬁid")%wgdﬁ Yo VO oluas .

.)wL.ncw‘ ooe Yold u.:‘ uﬁybwrw o)|_9».be=\5



:o); oJLm'b

International Mathematics Ol " ulMaL.) Sl

Tournament of Towns

Senior O level paper (Y ole C‘:‘“) o 4y lune

Spring 2015 YVAY pawl — Ssbyel

(The result is computed from the three problems with the highest scores.)

points problems
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Pete summed up 100 consecutive powers of 2, starting from some
power, while Basil summed up several consecutive positive integers
starting from 1. Can they get the same result?

A moth made four small holes in a square carpet with a 275 cm side.
Can one always cut out a square piece with a 1 m side without holes?
(Consider holes as points.)

Among 2n + 1 positive integers there is exactly one 0, while each of
the numbers 1,2, ..., n is presented exactly twice. For which n can one
line up these numbers so that for any m = 1,...,n there are exactly
m numbers between two m’s?

Points K and L are marked on the median AM of triangle ABC, so
that AK = KL = LM. Point P is chosen so that triangles K PL and
ABC' are similar (% = % = %) Given that points P and C are on
the same side of line AM, prove that point P lies on line AC.

2015 positive integers are arranged in a circular order. The difference
between any two adjacent numbers coincides with their greatest com-
mon divisor. Determine the maximal positive integer N which is for
sure a divisor of the product of these 2015 numbers.



